Two-pieces / Three-pieces Coupling
Two-pieces COUPLING
WA IR S

[

T T

P«

d2/d3

D1

dh

Hg_ -1

H2

dh

A=A}

d2

d1

H2

D2

H3

H1

H3

&l

E 1% 12 3L

LL*E 3L

ﬁwﬁﬁ%

c W Lc % % C
)

D1 D di _Na | PCD IE!I!! mnmn-mm
01 |B24080-44XV 80 | 80 | 44 | 24 | 8 [153| 12 | 29 6 |60 M8 |11 88 | 2 92 M8x1.25
02 |B20100-40XV 100 | 100 | 40 | 20 9 [18.37| 14 | 34 6 | 60 | 66 | 1 [ 2 60 | 30 | 8 2 60 | M8x1.25 [1.37 | 1.22
03 (B24100-40XV 100 (100 | 40 | 24 | 8 |183| 14 | 34 6 | 60 | 66 | 11 6 2 60 | 30 | 8 2 60 | M8x1.25 | 1.3 | 1.15
04 |B24120-60XV 120 (120 | 60 | 24 | 8 |183| 14 | 34 6 |80 |66 | 11 [ 2 80 | 30 | 8 2 80 | M8x1.25 | 1.3 | 1.15
05 |B30120-60XV 120 | 120 | 60 | 30 7 [193| 14 | 34 6 |80 |66 | 11 [ 2 80 | 30 | 8 2 | 80 | M8x1.25 |23 | 2
06 |B36140-80XV 140 (140 | 80 | 36 | 11 |18.52| 14 | 34 6 [100 | 6.6 | 11 6 2 (100 30 | 8 2 [100 | M8x1.25 |1.52 | 2.2
07 (B24160-100XV 160 (160 | 100 | 24 | 9 |21.73/16.5| 40 8 (118 | 9 14 | 8 2 (118 |225| 10 2 (118 | M8x1.25 |1.73 | 2.3
08 |B24180-120XV 180 | 180 | 120 | 24 | 9 |21.61{16.5| 40 8 |140 | 9 14 | 8 2 | 140 225 8 2 | 140 | M8x1.25 [1.61 | 1.44
09 (B36180-120XV 180 | 180 | 120 | 36 9 (21.37/16.5| 40 8 (140 | 9 14 | 8 2 (140 | 225 2 |[140 | M8x1.25 |1.37 | 1.22
10 |B40180-120XV 180 | 180 | 120 | 40 9 |21.76/16.5 | 40 8 (140 | 9 14 | 8 2 (140 | 225 2 | 140 | M8x1.25 |1.76 | 1.57
ANBDRBERRE » RY » sB2EHFEREEN - RASITEA -

Bs=(&nh 0752 2268439 2268439 E-mail:hz@teng-xin.com www.teng-xin.com

B

EEE&&;

TGN B

P 3
mmmmﬂmmmm-mmmmnmnmm-
11 |B24200-120XV 200 | 200 | 120 | 24 | 9 |21.63{165| 40 | 8 |150 | 9 8 2 22.5 150 | M8x1.25 |1.63 | 1.45
12 | B36200-120XV 200 | 200 | 120 | 36 | 11 |21.52{165| 40 | 8 (150 | 9 | 14 | 8 2 | 150 |225| 8 2 | 150 | M8x1.25 |1.52 | 1.36
13 |B72200-120XV 200 200|120 | 72 | 9 |20.99(165| 40 | 8 (150 | 9 | 14 | 8 2 150 |225| 8 2 | 150 | M8x1.25 |0.99 | 0.89
14 |B24210-135XV 210 1 210 | 135| 24 | 13 |21.71{165| 40 | 12 (165 | 9 | 14 | 8 2 (158 | 15 | 10 | 2 | 165 | M8x1.25 |1.71 | 1.53
15 | B48210-135XV 210 | 210 | 135 | 48 | 13 |21.71{165| 40 | 12 |165 | 9 | 14 | 8 2 (158 | 15 | 10 | 2 |165 | M8x1.25 |1.71 | 1.53
16 |B60250-160XV 250 | 250 | 160 | 60 | 9 |21.63{165| 40 | 8 |[195| 11 |175| 10 | 2 | 195|225 10 | 2 | 195 | M10x1.5 |1.63 | 1.45
17 |B72250-160XV 250 | 250 | 160 | 72 | 11 |21.42{165| 40 | 8 |195 | 11 |17.5| 10 | 2 | 195|225 | 10 | 2 |195 | M10x1.5 |1.42 | 1.27
18 |B360250-160XV [250 | 250 | 160|360 | 7 |20.5|165| 40 | 8 |195| 11 (17510 | 2 195|225/ 10 | 2 |195| M10x1.5 | 0.5 | 0.4
19 |B72280-190XV 280 | 280|190 | 72 | 11 |21.42({165| 40 | 8 |222 | 13 | 20 | 12 | 2 | 222 |225| 10 | 2 |222 | M10x1.5 |1.42 | 1.27
20 |B360280-190XV |280 | 280 | 190|360 | 8 |20.6 /165 40 | 8 (222 | 13 | 20 |12 | 2 |222|225| 10 | 2 |222 | M10x1.5 | 0.6 | 0.5

mmmnmnmmmm-mmmmnmnmm-

B60320-210XV 30.46| 25.5 M12x1.75 | 1.46
22 |B72320-210XV 320320 | 210 | 72 | 11 30.74/255| 58 | 12 (258 | 13 | 20 | 12 | 2 | 258 | 15 | 12 | 4 | 258 | M12x1.75|1.74 | 1.55
23 |B360320-210XV (320 |320| 210|360 | 9 |29.6(255| 58 | 12 (258 | 13 | 20 | 12 | 2 | 258 | 15 | 12 | 4 |258 | M12x1.75| 0.6 | 0.5
24 | B48400-280XV 400 | 400 | 280 | 48 | 13 |31.52| 26 | 60 | 12 |335| 13 | 20 |12 | 2 |335| 15 | 12 | 4 |335 | M12x1.75|1.52 | 1.36
25 |B60400-280XV 400 | 400 | 280 | 60 | 15 (31.82) 26 | 60 | 12 (335 | 13 | 20 |12 | 2 |335| 15 | 12 | 4 | 335 | M12x1.75|1.82 | 1.62
26 |B72400-280XV 400 | 400 | 280 | 72 | 13 [31.52) 26 | 60 | 12 (335 |13 |20 |12 | 2 |335| 15 | 12 | 4 |335 | M12x1.75|1.52 | 1.36
27 |B360400-280XV | 400 | 400 | 280 | 360 | 13 |30.6| 26 | 60 | 12 [335 | 13 |20 |12 | 2 |335| 15 | 12 | 4 |335 |M12x1.75| 0.6 | 0.5
28 |B48520-415XV 520 | 520 | 415| 48 | 15 |31.97| 26 | 60 | 12 |450 | 13 | 20 | 12 | 2 | 450 | 15 | 12 | 4 | 450 | M12x1.75|1.97 | 1.76
29 |B72520-415XV 520 | 520 | 415| 72 | 15 (31.97| 26 | 60 | 12 |450 | 13 | 20 | 12 | 2 | 450 | 15 | 12 | 4 | 450 | M12x1.75|1.97 | 1.76
30 [B360520-415XV |520 | 520 | 415|360 | 15 [30.8| 26 | 60 | 12 |450 | 13 | 20 |12 | 2 |450 | 15 | 12 | 4 |450 | M12x1.75| 0.8 | 0.7

mmmumﬂmmmm-mmmmnmn-mm-

B60600-480XV 36.95 M12x1.75 |1.95 | 1.74
32 |B72600-480XV 600 | 600 | 480 | 72 | 19 (37.28/ 29 | 70 | 12 (530 | 17 | 26 |16 | 2 |530| 15 | 12 | 4 |530 | M12x1.75|2.28 | 2.04
33 |B360600-480XV | 600 | 600 | 480|360 | 15 | 36 | 29 | 70 | 12 (530 | 17 | 26 | 16 | 2 |530| 15 | 12 | 4 |530 M12x1.75| 1 | 0.9
34 |B72700-560XV 700|700 | 560 | 72 | 19 |36.7| 29 | 70 | 12 |610 | 17 | 26 |16 | 2 |610| 15 | 14 | 4 | 610 | M12x1.75| 1.7 | 1.5
35 |B360700-560XV |700| 700 | 560|360 | 19 | 36 | 29 | 70 | 12 610 | 17 | 26 | 16 | 2 |610| 15 | 14 | 4 | 610 | M12x1.75| 1 | 0.9
36 |B72800-660XV 800|800 660 | 72 | 22 |39.3| 32 |75 | 18 |710 | 17 | 26 |16 | 2 |710| 10 | - 4 | 710 |M12x1.75| 1.8 | 1.5
37 |B360800-660XV | 800 | 800 660|360 | 22 [39.2| 32 |75 | 18 (710 | 17 | 26 |16 | 2 |710| 10 | - 4 | 710 |M12x1.75 | 1.7 | 1.4
38 |B721000-830XV |1000|1000 830 | 72 | 22 |61.7 545|120 | 18 (900 | 17 | 26 |16 | 2 | 900 | 10 | - 4 | 900 | M12x1.75| 1.7 | 1.5
39 |B3601000-830XV (1000|1000 830 | 360 | 22 |61.5|54.5(120 | 18 | 900 | 17 | 26 | 16 | 2 | 900 | 10 | - 4 | 900 | M12x1.75| 1.5 | 1.4

FATRBERMRR » RY » REVFEBEERN  WARSBTBA -

BEs=(&Dh 0752 2268439 2268439 E-mail:hz@teng-xin.com www.teng-xin.com




